Algebra Review Task Name Kb\!

Accelerated Math III Period Date

\/

I. Order of Operations with Functions
Evaluate these without a calculator and then check your work using one.

L

8.

’

If f(x) = 6x° - Bx + 10, evaluate f(-2).
If £(x) = (x - 4)(x + 5)(4x + 3), evaluate f(-2). 90 v
If £(x) = 6.7%° V2 - 9 evaluate £(5).__285

Iff(x)=2- 3|099(X + 5), evaluate f(- 4—) 7/ 2

=18
If () = 2=, evaluote £(3) /1%

If £0x) = Bsin (6(x - 70°) + 4, evaluate £(100%).__ 4
How did you know to use degrees in this problem?

724 Sv/vu&b(r u

‘H/‘ _
If f(x) = 2sec x - 7Qaluafef(n/6) < -+ A — —:}. %LIE 2\

2

How did you know to use radians in thjs problem?
, WMI&GL leésf )
If £(x) = 8Arcsin (x + 3) - 5, evaluate f(-3.5). __~ ir_g
Does it matter if you are in radmms or degrees?_YESWhich should be used and why’>
LADIANS SINCE e "is uwmess

II. So, solve each of the following algebraically without using a calculator.
Check your work using one.

L

6.

-/

3x+4:=15 Y= i\ l 3 How are #1 and#Z dlffer'em‘?
» " ovlev ?
3(x+4)=15 Y = \ Can #2 be solved another way?
 3logex+9:15 X=3b

7- jul How are #3 and #4 different?
3loge(x +9) =15 K= 746"7‘ e o»r&a/a@ P .
3cos x + g =3(ifO0<x<2n) (0§ /X;‘Z( - %) Why do you need a calculator?

x= z'w,ww = .42 Mot wice EEF. mivess -
3cos ( ) 3(if 0¢x<«2n) How is this different from #57
ws ()"l = T pete o

How are all the above problems allke?

[ngf‘; ;(22%,70«( NG ( )



-C P _C
7. If f(x) is a function, solve a-f(x) + ¢ =y for x. ﬂ?‘)‘ 3‘3 = € ((go'\ )

o ' M
8. It f(x)is a function, solve a-f(x +¢) =y for x. (Z(ﬁ(}" = oL = f'(,}\) -C
ITI. Keep solving these without ~i‘echnoﬂogy. Check using it, though.
1. x¥*-9x=0 ¥ (')( "l) K= How is this different from x% = 9x ?? 4“6
T 4x*-x=0 9 But what happens if we divide by x?? {0SE ¥ =© Ag
Y(L/x-t) X=0 x- '7\\ pa H50Rl
2. TTx- £3 "7 How is this different from >§2 z 9”9((“5" R
2 . 4/( -1= O ) i . i : - o
x =2 Yar
3. 2sin®x -sinx=0 (if 0 ¢ x < 27n) How is this different from 2sin®x = sin x? 9}‘
s (25mpx=1)=0 K= O, 7"/ g"/b
4. 2sin®x-1=0 (if 0<x<2n) ’How is this different from 2sin?x = 1 ? elxN\
sk B s D T, Iy, STy, WM
B, x*-Bx+4= ~ ~ Howis ‘i‘hss dtfferen*r from x° + 4 5><’>
ZV—“f)[x-/)OX 4= R ?ﬁ
6. x*-bx+4=-2 So, how must we solve quadm?ncs’ (KL
XE-Sw sl = (X-Gfxt)ys0 =, - :
—5\2 -
7. (2x3 5) - 5(2x3 5) +4=0 How can we identify quadratics? ( \ + ) + L
2e=5 4 x= 1o Z%‘ =) w=Y
8. csc? >(3 cscx-2=0 (if 0¢<x<2n) Can you check by gmphmg ) ,,Z . )
: - / -
wree > Gogtss (o) =g esen=l > sl k) s
9. 2?03 §c05x+)1 0 (ifO<x<2m) "'_T W = ’“’/(q, gﬂ'/é)'ff'
2« —1 Yk ~¢ / TT——
toswz e coS e —
X s /3 o /5 o, T

10. x?+x+10=7x
2 62‘@:—4(‘"3 6+ZL _

 Ko=lyx =0 T
11. 4tan®x - 2tanx=5 (if 0 < x < 2n) What do we do when quadrahcs don't factor?
nw 2a -5 A= QR +," (04 %M k‘hmé @QMUL4

12. (x-5)2x - 3)\\ =56, ?(_/‘ﬂq sfhisfhesameasx-5=Oor2x-3=O?>/5$
X =5 X-= /2—/ (,? TR
23 NU
44 14 this the sameasx-5=6or 2x-3 =62

13. (x 5)(2x-3)=6 3 =8,
x=34 q N
22( \gx.g,ig (o 134 3= 2315 this the same as x -5 =2 0or 2x-3 =32 N?
pe-3x + 97 Why doesn't factoring work here??? woT™ = 2e® a

x= 2raz 4 = 98¢ 5, 7 : )
14. (3sinx - 2)(sin x'* 1) 2 (if0<x<2n) SW\/Y[‘%M =
Bsidy - Gsinat +2 =2 o -
35 T * G SN TO f=0,m




IV. Keep solving each of the following algebraically without using a calculator.
Check your work using one.

1. %= 7 X = —'7—_ What property is helpful? mo’ﬁpl‘@&h‘“ PIQD
| cuodl 1y
2 ;_i_4=7 7(X-‘D:" W = 25 X”z‘;/? Geeb '(7
3. ==7 x=4fz Is 2 =13- 17 }GES
4 B __7 - A
: = 3= 1w -k wx=71/1Y

2(x—4)

5227 By-e-z® X< PE T '.(%.
6. =6 (f0cx<20) qu ()= T 5

sinx

7. 3sec x= 6 (if 0<x<2n) Solve this at least 3 ways!

@sec«,@ PRIV ;” x= "75,5’1773 @GML ) @gc w=2 & s, T3
XY +b6 > ='2,t3—-5

8. Iff(x)= %X:—sé , Write an equation ‘%or f'i(x). NS ‘é_‘j__..:i
.\TCommo_n misconceptions... . ' y s g
1. Is2+3:52 ¥ 23 1522+ 322 5%__NO_\
/ Is(2+3)°=2%+2(23)+3%=5%? ¥ES- \ —
2. Is 3%+ 42 = 5% ¥ES. Is3+4=5__ D

IsV3Z + 42 =452 ? jES LD
f wmaly X Pt

3. When is cos®x + sin® x = 1? A{M f !f.S Find an x so that cos x + sin x  1,_ &M

° ! ’
So, when is cos x + sin x = 12 Find at least 2 ways o solve this. 0+ 360 o W <300k

Werite an expression for cos X in terms of sin x. | 609‘ X= »§;f\ (?0’?k>' -

4. Istan’ @+ 1= sec?O? %% ‘Issec6=‘ran9+1? f‘_jo :

5. Write a sentence about squaring or taking roots of an equation.
MUST SQuArs [sauins R80T SNTIRE 510

6. Why is it difficult solve x* + 4y =72 2 viaq | AUES,
7. But how do we overcome that to solve cos®x + sin x = 1?

u 72/& TOENTTT?ES |
8. Solve cos®x +sinx = 1 (if 0 ¢ x < 2m)
[-cin™ 9 + Sy = | Sen X (—-S‘f/\'x +l)—’-— o
—sinTrx +Stax = O X=0m Ty .



9. Is(5-2)°=5°-2% OJD Is cos(30° + 60°) = cos 30° + cos 60°? IJD 5
IsV3+6=vV3+62? 0 Islogz(2 +8)=logz22+log, 82__MO -

10. Write a sentence about distributing a function. ﬂA/Lk/ wiTH M UT (Pl TIA
gl DrVIs 2A)

11. How does the graph of y = 4cos 3x differ from the graph of y = 4cos x?

perion 1S /3 As eoNe
How does the graph of y = 4cos 3x di ffer from the graph of y = €05 3% ?
SAE AS AGOVE

Describe how the intersections of y1 = 4cos x and y2 = -2 differs from the
intersections of y1 = 4cos 3x and y2 = -2.

I3 THE VAWES.
When solving 4cos 3x = -2 for 0 ¢ x < 2r, what must be done to consider all possible
solutions? - gowSipga- VALLES Prop 2w to 6TT  sme€

TREY Wil B OEx £ WHEN Divioss 8Y 2 .
Do that to solve 4cos 3x = -2 algebraically. .
oS 3 = - 5 3x = (20%+ b K 3¢ = 240 -«»geoou
VI. Speaking of Fractions.. X = ‘/0: 120 :L O‘K = 080 + l:O le \
K= ¥0°, /60280 , D" +200D, 32D

| 1St 5\]0 o2, o s 1, po

547 147 T 5+7 5+7  1+7
5+10 1+1 5+10 1+2 ' 5 1

Is — = —7: l!o Is—=—72? iES Is—=—72 :\gS
5420 1+2 5420 144 T 5+20 1+4

445 ‘JD 5+2'sinx . ‘_&_D -5 1 -
= = ? ] .
Is > 2++V5? Is — 1+ 2sinx : IsS+101nx PpTYRo ? o

2. Write a statement about reducing fractions.
/N A FATION , THE QUANTATES MUST &E MULTIPLI ED 737
Ece OTTER- ,So MOST ST FrresST™

5+4 5 4 3 3
3. Is—;'—=§+§? §{E§ Is-s-:z=g+z? MQ What is the difference?

HMBEL OF TEAMS N DENOM/~ATIEL  ~

4, SoisLn:i;Lfﬁ=1+cotx? %Zé Is—Sl-P—x—=1+tanx? [3[0

sinx+cosx



